AddSub-Neg-L1 Set1

Question 1 [25 marks] Question 2 [25 marks]
0. 7 —14=-7 0 2—16=-14
:3—-16=_ 1:5—17=
21-10=___ 2: 8§ =20 =
39-183=__ 3 10 —20 =
40—-—12=___ 4 1—-15=
54—12=__ 5 9—19 =
6: 03— 12=___ 6: 6 — 16 =
7 4-1=_ 7. 8—11=
& 8—-—10=__ 8 3 —18 =
99-13=___ 9: 8 — 16 =
10: 6—-13=___ 10: 8 —14 =
e 7T—14=___ 11: 5 —10 =
12:1-16=_ 122 1 —11 =
13:3-20=__ 13: 9—11 =
4 7—10=__ 14: 9—13 =
5 3=17T=_ 15: 1 —16 =
6: 7T—16=___ 16: 6 — 14 =
17 10-183=_ 17 9 —10 =
18 2—15=_ 18: 10 — 12 =
19:3-19=__ 19: 6 —12 =
200 2—13 = 20: b — 14 =
2. (—14d=__ 21: 9 —11 =
222 9—-18=__ 22:. 1 — 15 =
23 10 —18=__ 23: 2—13 =
2%4: 1 —12=__ 24: 9 — 16 =
25: 10—16=___ 25: 10 — 10 =
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Question 3  [25 marks] Question 4  [25 marks]
0. 6 —12=-6 0 10 -19=-9
:3—-19=__ 1: 8—15 =
28-19=__ 2. 9-12 =
3 1—-15=_ 3 2—-10 =
4:2—15=___ 4: 6 —19 =
52—11=_ 5 8—16 =
6: 10—-17=__ 6: b — 11 =
722—-18=__ 7. 7T—19 =
8 2—12=__ 8: 10 —13 =
956—-13=_ 9: 7—10 =
0 7—12=__ 10: 10 —20 =
m:3—-106=__ 11: 9—18 =
1229-183=___ 12: 6 —12 =
13:9-14=_ 13: 10 — 18 =
4:8—10=__ 14: 1 —10 =
5:4—-18=_ 15: 4 — 18 =
6 7T—11=_ 16: 10 — 16 =
mml—-11=_ 1 1 —18 =
18 3-20=__ 18 1 —16 =
196 —-13=___ 19: 3—11 =
200 10—16=__ 20: 5 — 17 =
21: 9—-19=___ 21: 9 — 15 =
2. 7T—10=____ 22: 6 — 18 =
23: 3—13=__ 23: 10 — 18 =
2%: 0—16=___ 24: 10 — 13 =
25: 10-20= 25: 2 — 12 =
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Question 11 |25 marks] Question 12 [25 marks]

0 14+(—=1)=0 0: 34+(=3)=0

L3+(-1)=_— L9+ (-2)=_
26+ (—6)=__ 28+ (-3)=___
554 (-9)=___ 524 (-3)=__
£ 1+ (-6)=__ £ 3+(-1)=
5 24 (—6)=__ 5 T4+ (-2)=
6 1+(—8) = 6 1+(-3)=___
104+ (=3)=___ 84+ (=3)=____
8 T+ (b)) = & T+ (-10)=__
0 O+ (—=3)=___ 0 10+ (—=3)=__
0 104+ (=3) = 0 54 (=T) =
w10+ (-2)= wd+(-4)=_
122 1+ (—6)=__ 12: 64+ (-3)=__
133+ (=3) = T (-9 =_
w6+ (-10)=__ w1+ (=4)=_
15: 24 (=2)= A+ (=)=
6: 8+ (-7)=__ 6: 9+ (—6)=__
1 9+ (=8) = 1 8+ (-10)=__
18 10+ (-4)= 18 14+ (—6)=__
19: 24 (-3) = 19: 104+ (-3)=
0: 34 (—=F)=_____ 200 24 (—10) =
o 14+ (=3)=__ o 14+ (—6)=___
2 T4 (-7)= 2: 84 (-7)=
23 64+ (-10) = 23 94 (-5)=__
o0 T4+ (=10)=__ 2: 34+ (—6)=__
25 24 (=)= 25: 10+ (-9) =
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Question 13 |25 marks] Question 14 |25 marks]
0: 6+ (—6)=0 0: 5+ (—10) =-5
L6+ (-2)=__ L1+ (-10)=_
224 (-3)=___ 214+ (-T)=___
3 104+ (=5)=_ 3 10+ (-3)=__
s 4+ (-6)=__ 2 10+ (-4)=__
5 8+ (—8) = 5 10+ (—4)=_
6 44+ (—4)=__ 6: 24+ (-10)=__
A4 (=B)=___ 7104+ (=9)=__
8 94 (—6)=_______ 8 104+ (-3)=___
o 14+ (—6)=___ o 14+ (—1)=__
0 1+ (=)= 0 64+ (—9) =
w2+ (-6)=__ w14+ (=2)=__
12: 54 (—6)=__ 12: 6+ (-1)=__
135+ (—-4)=__ A4+ (—-4)=_
w9+ (-4)=__ : 54+ (-10)=___
5 A+ (—8)=_ 5 54 (—1)=___
6 5+ (-2)=_ 16: 10+ (=10)=__
w T+ (=-N)=_— 1 104+ (=7)=
8 34+ (—8) = 8 T+ (=3) =
0 24 (—=3)=____ 9 24 (-T) =
0: 34 (—=F)=_____ 0 64+ (—3)=__
o 14+ (=3)=__ o 10+ (-2)=_
22: 104 (—6)= 02 A4 (—1)=__
23 54 (-2)=__ 23 10+ (-2)=_
24: 94 (—4)=__ 24: 84 (-9)=__
25 4+ (=3) = 25: 10+ (—6)=__
005 7 September 2014 7
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Question 15 |25 marks] Question 16 |25 marks]

0: 14+ (=7)=-6 0: 94 (—10) = -1

L9+ (-10)=__ T+ (-9)=__
2 94 (—4)=__ 2 T4+ (-1)=
324+ (-7)=__ 334 (—4)=__
4 1+(=5)=__ £ 6+ (4=
5 104+ (—4)= 5 84+ (-3) =
6 h+(—4)=__ 6: T+ (—4)=__
54+ (-1)= 7 34+(-6)=__
& 34+ (-9)=__ & 64+(-H)=__
o 4+ (-8 =__ 0 84+ (-2)=____
w0 104+ (=7)= 0: 84 (—6)=
wl+(-N=__ 4+ (-8)=__
2 44 (—4)=___ 12 14 (—6)=___
135+ (-2)=_ 13 5+ (-10)=__
w9+ (-T=___ A+ (-)=__
A (—6)= A (=)=
6: 8+ (-3) = 6: 5+ (-H)=__
i 84+ (-7)=__ m 6+ (—4)=__
18 2+ (-10)=__ 5 1+ (-4)=_
9 7T+ (-10)=__ 19 1+ (-8)=__
0034 (=9)=___ 00 14 (=3)=__
o 64+ (—10)=__ o 8+ (-8)=__
2: 34+ (-9)=__ 20 14+ (=9)=___
23: 4+ (-H)=__ 23 10+ (-9)=
o4 24 (—4)=_ o4: 24+ (—=T)=___
5 A+ (=9)=__ 5 1+ (=10)=__
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Question 29 |25 marks] Question 30 [25 marks]
0 94+0=9 0 6+4=10
L 1410=__ :94+3=__
234+1=_ 244+6=__
3 (—4)+0=__ 3 44+ 7=
g (=3)+5=__ 4: 34 (=6) =
5 (=5)4+6=___ 50 (—10)+(—=8) =
6: 4+ 3 = 6: 2+5=
A+ (-2)=__ (=5 +(-9)=__
& (—1)+7= 82+ (-9) =
o (1) 4+ (-3)=_____ 0. 043 =
0 (=3)+(-1)=__ 0 (=5) 4 (=9)=___
el (=) =___ i (~10)+3=__
12 14+ (-9)=___ 122 34+ (-10)=
134+ (-10)= 13 (-10)+7=__
6+ (—6)= e (=) ()=
15: 5+ (—4) = 5 0+6=__
6 (- +(-4)=— e 1044=___
(D) 4 (- = (=) +4=__
18 (1) +8=___ 18 9+ (—4)=__
19: 4+4 = 19: (=8)+2=___
0 (—=3)+(-2)=__ 0 (—6)+8=___
o 64+ (—10)=__ o 1+ (=)=
222 3+ (—10)=__ 22: (—6)+(-1)=
23 (=7)+ 7= 23 24+2=__
24: (=) +(-2)=__ 24: 10+3=___
25 (-T)+9=__ 25 10+1=__
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Question 31 |25 marks] Question 32 |25 marks]

0: (=9) + (=8) =-17 0: (=9)+(-2)=-11

134 (—4) = L(=2)+2=__

2 (=6)+ (-T)= 214+49=__

3 14+0= 3 (—6)+9=

4 (=6)+(-2)= 4 (-8)+(-1)=
5 (—10)+(-1)=__ 5(—6)+d=__

6: 94+ 6 = 6: 64+ (-8 =

(=6 (=5)=__ T 54+9=___

g (=) 4+ (—4)=__ 8 047 =

9 94+ (-1)= 9 (=3)+(-4)=__
w0: 04 (-7)= 0: 34+ (-3)=
1: 844 = mw (=2)+4=__
122 (=3)+ (-10) = 12 0410 =

13 (-10)+6=__ 13 (=2)+(-1)=
w T+4=___ 4 (-2)+0=__
5 (—6)+2=__ 15 84+ (—10)=__
6 10+3=__ 16: 746 =

7 149=__ 1 14 (=5) =
8 (—6)+6=___ s () +10=___
19: 10+1= 19: (=7)+(-8) =
00 10+ (=3) = 200 (—4)+(=5)=___
ot (=7)+10=___ ot (—8)+2=____
22: 2+ 7 = 222 0+ (—8)=_
23 T4+ (-8)=__ 23: 64+ 0=

o (—1)+1=__ 24: 94 (—6)=__
25 O+ (—=7) = 25 O+ (—4)=__
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Setl

Question 33 |25 marks] Question 34 |25 marks]
0 0+0=0 0: (—8)+ (—6)=-14
1 (=9)+1= L6+ (-6)=__
2 (=9)+(=3)=___ 254 (1) =__
5 7T+ (—6) = g (—4)+2=__
4 (—6) + (—4) = 4@ 44 (=1) =
5 (—9) 4+ (=5)=____ 5o (—4)+(-10)=__
6: b+2= 6: b+ (—4) =
7104+ (—4)=__ (- (—4)=__
& 44+3=___ 8 (—8)+2=
0 3+2= o (—4)+(-8)=__
w: (=9)+(-1)= w0 (=8)+(-1)=_
1 (-10)+6=___ () +(-1=_
12:50+2=__ 12 (=9)+(-3) =
3 (—8)+5=___ 3 04 (=5)=__
wl+2=_ w (=2)+4=__
15 (=3) +3 = 5 100+ (=5)=__
w6 (=) +(-71)= 16: (—6) +5 =
(=) 4 (=9)=__ i (=) (=B =
18 4+ (—2) = 8 T+ (-2)=_
19: (=2)+(-2)= 19: 84+3=__
20 (=3)+(=10)= 0 (1) 4+6=___
21: 84 (—1) = 21: 10+5=___
22 (—10)+ (=1)= 22 (—10)+7=____
23: 10+ 0 = 23 0+ (—1) =
o (=8)+(-T)=__ o0 (—10) + (—10)=
o5 (1) +1=__ 25 (=8)+ (-10)=
005 7 September 2014 17
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Question 35 |25 marks] Question 36 |25 marks]
0o 1+10=11 0: (=2)+ (=9) =-11
v (=2)+9=__ 24+ (-T)=
2 10+4=___ 23+ (—-4)=__
3 24+1=__ 3 (—4)+6=__
4 (-9)+4= 4 54+0=
5 (=2)+(—6)=___ 510+ (—6)=__
6 0+10=___ 6 (=2)+(-2)=__
24+ ()= . 8+4=
804+ (—9)=___ 8 104+ (-T)=___
0 947 = o (—3)+(—-8)=__
0 (1) 4 (5= A (=) =__
e () 4+ (—6)= A (=T) =
12 (=3)+(=5)=___ 2 () +l=__
13: 6+ (—6)=__ 13 (—6)+8=___
 (=3)+10=___ 14: 645 =
1 (=8)+(-1)= 15 5+ (-10)=___
6 9+1=__ 6 (=5)+(-4)=_—
(=T 46=___ 1 (=9 (=3 =
8 (=2)+8=__ 18 5+ 10 =
19: T+9 = o (—6)+(-1)=__
20 (=2)+(-3)=_ 200 10+ (—6)=__
2 (=3)+(=T)=___ 0 34 (-1)=___
22 0+5=__ 20 142=__
2 T+1=_ 23 2+ 0=
o (—D)+7=__ o (—T) 4 (—4)=__
% 3+1=__ 25 (=3)+5=__
005 7 September 2014 18
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Question 37 |25 marks] Question 38 |25 marks]

0: 243 = 0: (—10) +6 = -4

L9+ (-10)=__ pl+l=_

2 (=2)+(-H) = 2 (=9)+5=__
A+ (—4)=___ 5 (—8)+5=__

£ 0+ (-10)=__ £ 1040=___

5 () +(-6)=__ 5 7T+10=__

6: 94+ (-8 = 6: 1+1=

7 (—4)+5= A+ (=1)=____

g (—6)+(-1)= g 44+0=___

o (—2)+(-4)=__ 0 4+ 8=

w0 1+(=3)= 10: 5+ (—4) =

() 40=___ e (2) ()=
12 0+(-1)=_ 12: 34 (—1) =

3 (-8)+9=__ 3 (=) +(—4)=___
14: 446 = 1 (=10)+(-4)=_
5 (=5 4+ (-T) = 5 (—T) 4+ (—4) =
6 1+(=5)=___ 6 1+ (-9)=__

17 (—3)+6 = 1 34+ (-10)=__
18 (=3)+(—8) = 8 T+l=_

9 (—6)+(-1)= 19: 7410 =

20: 6+ 4 = 20 (—8)+ (—8)=____
21: (=3)+(-3)=___ o1: (=6)+5=__

22: (—5) +6= 22: 3+5 =

23 (=) 4+ (=5)=___ 23 (=3) 4+ (=5)=___
24: 34 (-1)=_ 24: (=3)+2=

25 64+ (—10)=__ 25 (—10)+ (-7)= —
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25 marks|

Question 40

25 marks]

Question 39

4—-2=72

0:

3: 10 — (-4) -

— ~— — — — — — — ~— ~— —

)
1: 2 — (—4)

(
8 7—1

—1
—10 =
—2
—10 =

11:

1229—-(-7)=

13: 8 —1

14: 2—9 =

—
o
I TR I I
= | =)
—~
TTT R T
_ _
— —~ —~ ~ ~
L b o =
i) S = 0 =
— i i — i
I
— I
0 —
| [
S~— _
_ <t ~—
I _ | I
~—~
e} N —~ —~ | Te]
R A
L s L L =
i) S = o0 =
— i — — i

20: (—4) — (—10)

21: (—10) — (—6) =
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22— (-8 =__

23: 4 — 8
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25: (—9) — 10
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Question 41 |25 marks] Question 42 |25 marks]

0: (=9) — (=2) = -7 0: 9— (—10) = 19

L (=2) = (-6)= —— (=8 = (3)= ————
28— (-T)=__ 2 10— 3 =

5 6—-1=__ 5 10— (=5)=____
4 3—-6= 4$2-0=_—

5 (-10) —(—4)= 5. (=b)—9=__

6 (-9)—(-8)=__ 6: (-10)—8=__
73—-4=_ 7.2 6=

8 6-3=__ g (—6)—(—6)=___
9 (-8)-0=__ 9 (=6)—(-H5)=
10: 2 —(—8) = w: (-4)-9=___
m (=2)—(-4)=__ m:8—(=5H)=__
12:2-10=____ 12 (—=5)—5=___
3 l-1=___ 34— (=10)=
o (—4)—7T=______ 4 (—4)—10=______
5 (=9)—6=____ 15 (=10) —8=___
6 T—9=___ 6 (—6)—0=____
i (=9)—-3=__ i (-9)—-3=__
18 0—(—8)=__ 8 (-9)—1=___

o 4— (—10)=____ 9 (=9)—5=____

200 (—4)—(-8)=_ 200 5—-3=__

o (=) —T=__ o1: (1) —H=__

22: 3 — (—6) = 22: 8— 1=

23 (=3)—(-H)=__ 23 0—(—-10)=
24 0—5=__ oa: (=3)—d4=___
250 9—6=___ 25 2— (=)=
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25 marks|

Question 44

0. 9— (-2

25 marks]

Question 43

I
—

2—-0=2

0:

L) - (8=

2: 1—(—6

—~

3: 6—4

<

40— (=3)
)

10: 4—9

1: 1—(=1) =

~— ~— N~ ~— =

~—~~ ~ —— ~ ~~ ~—~ N ~ o

25: 2 —4

o~ o~ o~~~ o~

— N~ N~ ~  ~ ~ @~ ~
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25 marks|

Question 46

25 marks]

Question 45

=0

0: (—10) — (~10)

~ ~~
[\ [=p}
o g
<t
_ _ _
~ ~ —~ ~ —~ —~
R N
o] o ~— o ~—  ~—
) <f 3 © =~ 0
I
o TR
> = REE
_ _ I I L
~— o~ 0 <t — m

0:3—(—8)=___

10 1 —5

12 (—6) — 10

13: 10 — 10

7-5=

14:

4 0—-(-3)=—

—~
=2 5 N T ™
—

(R TR N
\L/ ~— ~— D~ (] N ~— ~—
_ _ _ _ _ _ _ |
~ e e e e e e
_ (@) D (o] (@) a [ap) (o]
s L L L L 4
) ) = ) =) S — N
— — — — — Q I\ N
I I

— —~
ol = o=
+ © = e =
I R e
— — — — — —~
N = ™ =
_ | _ o _ _
~— ~— Nej o ~— — ~— ~—
— — — — — xQ A\ N
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Question 47 |25 marks] Question 48 [25 marks]

0: (—=6) — (=5) =-1 0: (—4) —6=-10

1 (=6) = (-8) = —— (=T 8= —

2. (1) —6= 2 (=2)—3=__
3 (-2)—(-2)= 310 — (—2) =

4 7T—2= 4 (=7)—=(-10) =

5 1—T=__ 5 (=5)—(-4)=__
6 4—0=___ 6: (—10) — 8 =
276—-4=__ 7271-0=

85— (—6)=______ 8 8 — (—10) =

o (<) —6=— o (D) - ()=
10:9—(=2) = 10 (=8) = (-4) = —
m (=2)—(-4)=____ md—-1=_
1223-3=____ 12: 0—0=

13 (—6)—6=___ 13: (=5) = 7=

w (-7 -10=___ 14: 3 — (—6) =

T R — (-9 - (-3 =
6: 8—1=___ 16: 7—9 =

17 (—=8) —2= 17 5—4 =

18 (—4)—4=__ 8 10— (-5)=_
19: (—6) —8 = 19: 0— 7=

20: 5— 10 = 20: 6 — (—4) =

21: 6 —(—-10)=__ 21: 4 — (—6) =

2 (=9) = (-8) = — 2 8-2=__

23 (—6) —(—8)=_ 23 4 —5=

20 (<6)—0=___ 2: 9 — (=3) =

25 8 —(—6)=__ 25 (=5) —3=__
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